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More Information

50 A light dependant
resistor is an input.

You can check to see
if the LDR variable or
analogue input is

( analogue @3 ) > &)

greater than, less

than or equal to a

100 specific number. If it
is or isn't greater
than, less than or

equal to a number it

150 .

can trigger other

things.

The LDR variable can only be used if the analogue
input has been transferred inside as shown below.

aJo
2‘d'vor
pa3dauuod

aq ued

1035153
juepuadap
Wy v

4

for Crumble
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Crumble A

Playground
Light Dependant




